N = 0l & At & Ml A

20209 &= E0& AT AMHSESH A
AN dot=E
zm: gtez 23 =
Eel A Zel(4=TASSEEFA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Aot=S Dt 33,550,781 34,235,233 A 684,452
s 3,156,000
Al 30,394,781
g2 32 =20 31,924,754 32,909, 344 984,590
s 3,156,000
Al 28,768,754
AT (M-S ASSESA) 31,924,754 32,909, 344 984,590
s 3,156,000
Al 28,768,754
dAg=3At 596,000 911,000 A 315,000
401 AIEHI L 20 590,000 908,000 A 318,000
01 A& HI 590,000 908,000 A318,000
mS = SAHI 590,000, 000& 590,000
405 XHobF S HI 6,000 3,000 3,000
01 HatH ESFH S 6,000 3,000 3,000
mAIR A HS ¢ 6,000,000& 6,000
=g 12,599,900 12,485,640 114,260
206 M= Hl 12,578,900 12,464,640 114,260
01 M= 4l 12,578,900 12,464,640 114,260
w &= 12,578,900, 000& 12,578,900
301 LA F 1,000 1,000 0
12JIE243 1,000 1,000 0
mESADL 243 1,000,000& 1,000
802 BHEt= DI EF 20,000 20,000 0
03 JIEtEtEt 32 S 20,000 20,000 0
CInISeR=g= 20,000,000& 20,000
ANgaZAtE A2 9,248,104 9,448,104 A 200,000
307 glz2tol & 9,248,104 9,448,104 A 200,000
05 RIZtE = 9,248,104 9,448,104 A 200,000
WX gaxS 2AEAIS Y 9,248,104,000& 9,248,104
sx71Y =& 9,480,750 10,064,600 A 583,850
s 3,156,000
Al 6,324,750
203 YR =2t 3,000 3,000 0
03 Al =AY R =& 3,000 3,000 0
mEHS ALY =& & AL AH
3,000,000& 3,000
401 Al HIZ 201 8] 9,477,750 10,061,600 A 583,850
s 3,156,000
Al 6,321,750




SA: MBS
Bu: ges 332 =
Sl AT B (MATASSHE) CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 Al&H| 9,462,000 10,049,000 A 587,000
mAIS M2 =K A A& ALSH 1,500,000, 000& 1,500,000
mMAHHA = AL=202 HHIALS
6,812,000,000& 6,812,000
g 3,156,000
Al 3,656,000
mIZ=32Y SEAY 1,000, 000,000& 1,000,000
mAS=GE GIS DBUAIALY 50,000,000& 50,000
mE=CAlE HERY E284 50,000,000& 50,000
mASHA AMA Y H4ZA 30,000,000& 30,000
m=2S A OF 20,000,000 20,000
03 Al&E 201 Y| 15,750 12,600 3,150
maZ3=71 SHIAAS AAES0UYI 6,300,000 6,300
mMAHHMA “FA=22 HUAIY Ald 20|
9,450,000 9,450
HEMSHAY (Mot ) 873,887 864,309 9,578
laAAY| (AL AILAEHSH) 709,550 679,983 29,567
ol ALY 709,550 679,983 29,567
101 124 H| 580,030 555,385 24,645
01 2 580,030 555,385 24,645
mEAFE 24 580,030,000 580,030
203 € R =& 4,200 4,200 0
04 EASHIRFEH| 4,200 4,200 0
WEASYE dR2FAH(FH:219) 4,200
O 250210| 6t 350,000 «12& 4,200
204 &R A H| 33,360 31,860 1,500
01 Mg HRLSSHAH| 1,200 1,200 0
mE(53) 100,000 x 1 x12& 1,200
02 238 X4l 17,760 16,260 1,500
mazZE x| 17,760,000 17,760
03 EHELRAY 14,400 14,400 0
mMEHAR2 L 14,400,000 14,400
304 A=z =2S 91,960 88,538 3,422
0 osEeE=a 69,819 67,133 2,686
maA=Z=2e=2 69,819,000 69,819
02 200HUAEE2 22,141 21,405 736
mI0NAHUEEH =2 22,141,000 22,141
JEdY (AT AILEHSAH) 164,337 184,326 A 19,989
Jl2 &4l 164,337 184,326 A 19,989
201 LBt | 128,337 148,326 A 19,989




2N Mot
B HHSAAL (MLEE D)
S J2ZH (ML AILSEESIH) (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| H| 103,387 121,136 N17,749
(] B4 2 H| 86,087,000 86,087
mEaAe= 980,000& 980
m] =2 2| 11,520,000 11,520
mAXS 4,800,000 4,800
02 2224 H| 24,950 27,190 N 2,240
mE222=2 <2 MA 5,550,000 5,550
m =& S Xl 10,000,000 10,000
m] Xp&F M ] 9,400,000 9,400
202 04| 36,000 36,000 0
01 2L HI 36,000 36,000 0
= 04 1l 36,000,000 36,000
olBldl (A= ALY ) 100,000 100,000 0
OlHIHI (A=A ) (AT AAEEZ ) 100,000 100,000 0
oldIbl (A= ALY) 100,000 100,000 0
801 oyl dl 100,000 100,000 0
01 L Bhal gl bl 100,000 100,000 0
=] 04l B Y 100,000, 000& 100,000
HEES(MEEEYEFAH) 652,140 361,580 290,560
SBEIS (AT AIY EEHSH)(ALCAILESESH) 652,140 361,580 290,560
X 2el2 as 652,140 361,580 290,560
311 X 20| AHakst 241,140 262,360 N21,220
03 ELHEXL 20| AHAE 241,140 262,360 N21,220
mAgaECAIY AE2H X2 0l XHAEH(2%
) 241,140,000 241,140
601 X 2| S at&t 411,000 99,220 311,780
B ELHEXNL S ASME 411,000 99,220 311,780
WAL ETAY PSRy SN2 B2 4
411,000,000 411,000




N = 0l & At & Ml A

20204 =1 S

H
i
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z
Qﬂ
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>
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Jm
ng

S atot
35
el X

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

64,845,439 25,826,723 39,018,716
17,815,000
3,121,500
43,908,939

= N H

46,513,970 20,469,073 26,044,897
17,815,000
3,121,500
25,577,470

= N H

46,513,970 20,469,073 26,044,897
17,815,000
3,121,500
25,577,470

= Hn A

4,720,850 2,600,746 2,120,104

401 AIEBIZ S CHYI

4,720,850

2,600,746

,120,

104

01 Al&HI
3ot FH|
O Al &HI
03 Al 2 CHHI
Sot+=& &

OANZ20UHI

4,705,000, 000&

15,850,000

4,705,000
4,705,000
4,705,000
156,850
15,850
15,850

2,592,810

7,936

112,

190

914
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=

H

S3otrHMelAdE SEAMY

= MW

5,358,714
1,175,000

587,500
3,596,214

1,721,250

,637,

464

401 AIEBIZ 20

= MW

5,358,714
1,175,000

587,500
3,596,214

1,721,250

,637

464

01 Al&d

mISE SSot=XelAlE

mISE SSot=XelAlE
2

I S3otexelAl e

791,214,000

562,500,000&

ALY

5,000,000

= MW = N H

= HnH

4,791,214

4,791,214

922,500
461,250
3,407,464

562,500
562,500
562,500

250,000
125,000
187,500

5,000
5,000
5,000

2,500
1,250
1,250

1,620,250

100,000

1,000

,170,

462,

964

500

,000
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

A

=Y S3ot=HelAld SEAL (3AH)

= N H

9,139,600
,205,000
, 102,500
,832,100

3,251,750

5,887,850

4

01 Al HI 20U HI

= N H

, 139,600

, 102,500
,832,100

3,251,750

5,887,850

01 A& HI

mMAHAKMEY SSct=HMelAlE &AL (32
8,389,600,000&

02 Zeltl
WAHAMS Y S3ot=HMelAld XA (3SAH)

o Zcldl 745,000,000&

03 AlE 2 THHI
WAHAMS Y S3ot=HMelAld XA (3SAH)

OA&=20UHl 5,000,000

= N = W

= M W

2
1
5
9
2,205,000
1
5
8

,389,600

[ee)

,389,600

1,902,500
951,250
5,535,850

745,000
745,000
745,000
300,000
150,000
295,000
5,000
5,000
5,000

2,500
1,250
1,250

3,049,750

200,000

2,000

5,339,850

545,000

3,000

F=XelAld €1 At

= W

3,065, 191
1,660,000

355,500
1,049,691

117,143

2,948,048

4

01 AlEHI 20U HI

= W

3,065, 191
1,660,000

355,500
1,049,691

117,143

2,948,048

01 A& HI

max -

0©
=)
o

S3ot=HelAld XA

2,601,441,000&

o
o
0
o
=

(m]
02
ﬂ
02

20tES S3ot=HM2lAE EXNAL

456,250,000

©
0y
o
=

03 Al 2 THHI

= N H

= W

2,601,441

2,601,441

1,375,800
294,600
931,041

456,250
456,250
456,250

280,000
60,000
116,250

7,500

117,143

2,484,298

456,250

7,500




SN ASRED
HE: o4 #E
Eel NY301Y 2 (St M SE35H) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
mx - A0S S3ot=HelAlE EXAMLY 7,500
OAN& R0l 7,500,000& 7,500
= 4,200
< 900
Al 2,400
=202 B3ot=HelAlE &X At 4,473,408 101,429 4,371,979
= 1,500,000
< 321,000
Al 2,652,408
401 Al HI K 201 I 4,473,408 101,429 4,371,979
= 1,500,000
< 321,000
Al 2,652,408
01 A& HI 4,029,158 101,429 3,927,729
mol=20tE S3ot==HMelAlE XA
4,029, 158,000& 4,029,158
= 1,215,800
= 260,100
Al 2,553,258
02 Zeldl 437,500 0 437,500
mol=20tE S3ot==HMelAlE XA 437,500
oZeldl 437,500,000& 437,500
= 280,000
< 60,000
Al 97,500
03 Al 2 THHI 6,750 0 6,750
mol =20t S3ot==HMelAlE EXAY 6,750
OAN& R0l 6,750,000& 6,750
= 4,200
S 900
Al 1,650
& - HEOES ot=HM2AE EX At 944,495 110,000 834,495
= 579,000
< 124,000
Al 241,495
401 AIEHI L 2 0] 944,495 110,000 834,495
= 579,000
< 124,000
Al 241,495
01 A& Bl 887,245 110,000 777,245
w2 - A0S S3ot==HelAlE EXAY
887,245,000 887,245
= 542,600
S 116,200
Al 228,445
02 Zteltl 55,250 0 55,250
W& - HE0S S3ot=HMelAlE EXAMY 55,250




SN MBS AT
B slas #F
Eel NY301Y 2 (St M SE35H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oZell 55,250,000& 55,250
= 35,000
< 7,500
Al 12,750
03 Al S THHI 2,000 0 2,000
mRA - A0S SSotHaAAE EXAMY 2,000
OAN&R0UHI 2,000,000& 2,000
= 1,400
< 300
Al 300
HHA =% ot=22 HEIAFS (1) 2,666,470 6,632,470 23,966,000
= 250,000
Al 2,416,470
401 A& HIZ 201 8] 2,666,470 6,632,470 23,966,000
= 250,000
Al 2,416,470
01 A& HI 1,866,470 6,124,470 A 4,258,000
WMAHAMA =&Fot+=22 FUIAS (1&2H)
1,866,470,000& 1,866,470
02 2teltl 790,000 500,000 290,000
WMAHAMAl =&Fot+=22 FUIAS (1&2H) 790,000
oZeldl 790,000, 000& 790,000
= 245,000
Al 545,000
03 Al =TI 10,000 8,000 2,000
WMAHAMA =&Fot=22 FUIAS (1&H2H) 10,000
OAN& R0 10,000,000& 10,000
= 5,000
Al 5,000
HHME=Y ot=201 ZHUlAF (22HH) 714,000 0 714,000
= 500,000
Al 214,000
401 A& HIZ 2018 714,000 0 714,000
= 500,000
Al 214,000
01 A& HI 714,000 0 714,000
mMHH S ot=201 HUIAL (2EHH)
714,000, 000& 714,000
= 500,000
Al 214,000
otEH ZZots=XelAld SEAY 1,926,607 4,472,857 A 2,546,250
= 944,000
< 202,500
Al 780,107
401 A& HIZ 201 Y| 1,926,607 4,472,857 A 2,546,250
= 944,000




SA: ABATD
B slas #F
¢elr AY2BIY 2 (ot MBS EIA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 202,500
Al 780,107
01 A& HI 1,654,657 4,064,857 22,410,200
moIEH SSot=XclAE SEAMY
1,654,657,000& 1,654,657
= 801,200
< 171,900
Al 681,557
02 2feldl 267,500 400,000 A 132,500
WolEH SSotsXelAMdE SEAMY 267,500
oZeldl 267,500, 000& 267,500
= 140,000
< 30,000
Al 97,500
03 A& =2 THHI 4,450 8,000 A 3,550
moIEH SSot=XelAE SEAMY 4,450
OAN& R0 4,450,000 4,450
= 2,800
< 600
Al 1,050
&MEOIE St=delAlE EXALE 693,850 265,714 428,136
= 353,000
< 75,500
Al 265,350
401 A& HIZ 201 Y] 693,850 265,714 428,136
= 353,000
< 75,500
Al 265,350
01 A& HI 633,850 235,714 398, 136
A0S B3ot=XelAlE ZX A
633,850, 000& 633,850
= 317,300
< 67,850
Al 248,700
02 2feldl 59,000 30,000 29,000
A0S S3ot=HelAlE ZX A 59,000
oZeldl 59,000,000& 59,000
= 35,000
< 7,500
Al 16,500
03 A& S THHI 1,000 0 1,000
A0S S3ot=HelAlE ZX A 1,000
OAN& R0 1,000,000& 1,000
= 700
= 150
Al 150
JE0S ot=HMelAlE EXAY 571,000 714,286 A 143,286




SA: ABATD
HE: o4 #E
Sl XNSBIIY 2Y(GILTMSSHEIH) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 325,000
< 69,500
Al 176,500
401 A& HIZ 201 I 571,000 714,286 A 143,286
= 325,000
< 69,500
Al 176,500
01 A& HI 482,350 663, 286 A 180,936
mIBOS S3ot==HMelAlE EXAY
482,350,000 482,350
= 268,300
< 57,350
Al 156,700
02 2feldl 87,500 50,000 37,500
mIE0E B3ot==XelAlE ZX A 87,500
oZeldl 87,500,000& 87,500
= 56,000
< 12,000
Al 19,500
03 A& S THHI 1,150 1,000 150
mIE0E S3ot==HelAlE ZX A 1,150
(OFNE=E U 1]l 1,150,000& 1,150
= 700
< 150
Al 300
FZE0S S3ot=HM2dAE XA 127,500 0 127,500
= 44,000
< 9,500
Al 74,000
401 Al HIZ 201 Y] 127,500 0 127,500
= 44,000
S 9,500
Al 74,000
01 A& HI 127,500 0 127,500
mEREOS S3ot=XelAlE ZXAE
127,500, 000& 127,500
= 44,000
< 9,500
Al 74,000
A0S S3ot=HMelAE SEAY 284,285 0 284,285
401 Al HIZ 201 I 284,285 0 284,285
01 A& HI 283,835 0 283,835
mMBAMOIES S3ot=HMelAE SEAY
283,835,000& 283,835
03 A& 2 THHI 450 0 450
mBAMOIES S3ot==HMelAE SEAY 450




SA: ABATD
B slas #F
¢elr AY2BIY 2 (ot MBS EIA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAN&R0UHI 450,000 450
DEXNF o= FH SF22XNE S==0HLAS 10,000,000 0 10,000, 000
= 7,000,000
Al 3,000,000
401 Al Bl 28I 10,000,000 0 10,000, 000
= 7,000,000
Al 3,000,000
01 A& HI 9,990,000 0 9,990,000
mOSX S ol=EFH SE2cXg =0
A 9,990,000, 000& 9,990,000
= 6,993,000
Al 2,997,000
03 AIE =TI 10,000 0 10,000
mOSX S ol=EFH S22l =0
A 10,000,000& 10,000
= 7,000
Al 3,000
DE(ES)0tES 2 3MA: B36taHelAE XA 400,000 0 400,000
(FDA)
= 280,000
< 60,000
Al 60,000
401 Al I 2 O8I 400,000 0 400,000
= 280,000
< 60,000
Al 60,000
01 A& HI 349,000 0 349,000
MmO (HS)0S 2 3MA st=HelAld &X
Abd (FDA) 349,000, 000& 349,000
= 244,300
< 52,350
Al 52,350
02 Zteldl 50,000 0 50,000
WO (HS)0IS 2 3MA st=HelAld &X
Abd (FDA) 50,000
oZeldl 50,000,000& 50,000
= 35,000
< 7,500
Al 7,500
03 A& =2 THHI 1,000 0 1,000
MmO (HS)0tS 2 3L sta=HMelAld &xX
Abed (FDA) 1,000
OAN& R0l 1,000,000& 1,000
= 700
< 150
Al 150
Z2(2R)02 2 1A SSdt=HelANE XA 400,000 0 400,000
(FDA)




SA: ABATD
B slas #F
¢elr AY2BIY 2 (ot MBS EIA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 280,000
< 60,000
Al 60,000
401 A& HIZ 201 I 400,000 0 400,000
= 280,000
< 60,000
Al 60,000
01 A& HI 349,000 0 349,000
mMER(23)0t2 2 1HL st=H2lAE &R
At (FDA) 349,000, 000& 349,000
= 244,300
= 52,350
Al 52,350
02 2feldl 50,000 0 50,000
mER(23)0t2 2 1L st=H2lAE &
Abed (FDA) 50,000
oZ el 50,000,000& 50,000
= 35,000
< 7,500
Al 7,500
03 Al 2 0HHI 1,000 0 1,000
mER(22)02 2 1A st Ald &X
At (FDA) 1,000
OAN& R0 1,000,000& 1,000
= 700
< 150
Al 150
ANAE S3ot=HelAld XA 314,000 0 314,000
= 220,000
< 47,000
Al 47,000
401 Al HIZ 201 Y] 314,000 0 314,000
= 220,000
= 47,000
Al 47,000
01 A& HI 314,000 0 314,000
mMIAEE SSot=XclAlE XA
314,000, 000& 314,000
= 220,000
< 47,000
Al 47,000
MEDNS S3ot=HM2dAE SEAY 714,000 0 714,000
= 500,000
< 107,000
Al 107,000
401 A& HIZ 201 Y] 714,000 0 714,000
= 500,000
= 107,000




SN ASRED
HE: o4 #E
S NYBIY 2L (ot AMHEELYEIA) )
S - BB () - HEAY - BES Ol At o ﬁlgﬁ HRE2
Al 107,000
01 Al&H| 714,000 0 714,000
mAEOS 23ctrXelAldE SEAY
714,000,000 714,000
= 500,000
& 107,000
Al 107,000
HESHAL (Mot 1) 4,041,469 3,867,650 173,819
leEA2AY| (SIS AL ESH S H) 3,278,209 3,074,197 204,012
ol ALY 3,278,209 3,074,197 204,012
101 Q121 H| 3,114,054 2,924,702 189,352
01 2 2,377,880 2,234,874 143,006
mol=22 1,603,029,000& 1,603,029
[m] =G 510,734,000& 510,734
m] & oH FAlY]| 60,840,000 60,840
m A E =5 IH| 160,975,000 160,975
m DS A Y| 42,302,000 42,302
03 RIAHA*ZZXHE S 736,174 689,828 46,346
m A2 01 A 736,174,000 736,174
204 = 2 4= A H| 73,080 65,040 8,040
02 238 X4l 73,080 65,040 8,040
mAZzZ x| 73,080,000& 73,080
304 Hd=28<=2S 91,075 84,455 6,620
02 200HAEE2 91,075 84,455 6,620
m=200AHAEHZ2 91,075,000& 91,075
| 2ZH| (Gt AMTEHZ H) 763,260 793,453 A 30,193
Jl2 &4l 763,260 793,453 A 30,193
201 LBt 623,160 658,333 N35,173
01 AP 22| H| 464,360 495,433 AN31,073
(m] 2 BE4 2 H| 464,360,000 464,360
02 2324 158,800 162,900 A4,100
mE329d| 158,800,000 158,800
202 o4 H| 118,200 119,000 A 800
01 2Ll 118,200 119,000 A 800
mot=T AIY H2FK 117,000,000 117,000
mEES/AE WA 1,200,000 1,200
203 ¥ 2 =&XH| 5,700 4,920 780
04 FEASHEYIFFEH| 5,700 4,920 780
mEMNSY R4 5,700,000 5,700
204 AR 4 AH| 1,200 1,200 0




SA: MBS
B HHSAAL (MLEE D)
¢el: J2d3Hl (ot At SE3IAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 ¥R A 1,200 1,200 0
w53 (2HE) 100,000 »1Z 123 1,200
802 Btet= DI Et 15,000 10,000 5,000
03 JIEtEtE 2 & 15,000 10,000 5,000
m&EIEd=ZEL 15,000,000 15,000
Ol HI(Sh== = AFS) 750,000 0 750,000
OBl (St AL ) (Gt ALS S E 3] ) 750,000 0 750,000
OBl Bl (Bt = At ) 750,000 0 750,000
801 GilBI8I 750,000 0 750,000
01 Broldltl 750,000 0 750,000
(w] 04l H] B 750,000, 000& 750,000
Hees (st AdSEs H) 13,540,000 0 13,540,000
SBHEXNEGISALSEIAH)(St=S AL SE3IH) 13,540,000 0 13,540,000
gHer =3 13,540,000 0 13,540,000
802 Btet= DI Et 13,540,000 0 13,540,000
01302 x3eeEaz 9,990,000 0 9,990,000
WINExZ BHES 9,990,000, 000& 9,990,000
02 Al - EHIEXZSEHEZ 2,150,000 0 2,150,000
WAl - SHIEXZ B3 2,150,000, 000& 2,150,000
03 JIEtEtE 3 S 1,400,000 0 1,400,000
wDJ|EtEHEH S 1,400,000, 000& 1,400,000




2N

X{ XH -
S =

¢el: ZIZotHelAME2S (S-S ML SESIH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot ==X 2l 2t 12,488,257 13,270,727 AT82,470
= 138,000
Al 12,350,257
ot =2t 2| 12,488,257 13,270,727 AT82,470
= 138,000
Al 12,350,257
ZEot+HMelAME2E (St AIS SEE 3 ) 12,488,257 13,270,727 AT82,470
= 138,000
Al 12,350,257
33ot=HM2AE 22 12,488,257 13,270,727 AT782,470
= 138,000
Al 12,350,257
101 @124l 26,700 11,321 15,379
04 J12ZtHZ22 s+ 26,700 11,321 15,379
mot=XelAldE M=XY 26,700,000& 26,700
201 €24l 7,758,085 7,684,135 73,950
01 At 22/l 345,885 479,735 A 133,850
mol=HMelAld Le=ZHl S 345,885,000& 345,885
02 2324l 7,412,200 7,204,400 207,800
mal=HMelAld 29 (8122, AMEEUI Rl
g) 3,953,290, 000& 3,953,290
WAl & ZHl = X bl 3,458,910
Odt=XelANE FXNE*= S
3,458,910,000& 3,458,910
203 ¥ S =&l 9,700 4,000 5,700
03 AIMZ=XH 2 =IH| 9,700 4,000 5,700
m=LEX AL =& 2 BIAdiA 9,700,000 9,700
204 AR A H| 42,240 42,240 0
03 EZYRFHI 42,240 42,240 0
MESHA P4 42,240,0002 42,240
206 M= Hl 530,000 620,000 290,000
01 MHZ 4l 530,000 620,000 290,000
mot=HXelAlE8 228 M= & 530,000,000 530,000
307 gl2+tol & 3,020,520 2,136,000 884,520
05 BIZHRI & 3 3,020,520 2,136,000 884,520
mol=sel Xl U3 2 B3oteHelAlE S
E2S 3,020,520, 000& 3,020,520
401 AIEHI L 2CHEI 866,012 2,744,031 A 1,878,019
= 138,000
Al 728,012
01 A& HI 863,680 2,732,000 A 1,868,320
WSt elAlE JHEALY 863,680,000 863,680




AN ot=Xelnt
M ot2el
¢el: ZIZotHelAME2S (S-S ML SESIH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 138,000
Al 725,680
03 Al 2 THHI 2,332 12,031 A 9,699
mSt=HMelAlE HEAY 2,332
OAN& R0 2,332,000& 2,332
405 XHoHF S HI 235,000 4,000 231,000

== 5 Sl 235,000 4,000 231,000
m3J7 &€ B S 235,000,000& 235,000




